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sTreadsT dr (Aif%) / DRAUGHTSMAN ‘B’ (MECHANICAL)

1.

o A slear gfaenfeas Hemor Fgerar €2

Which of the following called Bimetallic corrosion?
(a) arareRoi ST/ Environmental cracking

(b) Frea=ir HEIRUT/ Galvanic corrosion

(c) FEUIR HWETROT/ Intergranular corrosion

(d) 24 F & F1F =81/ None of the above

aRUld H g 3@ disg @ gl g1 9 fawei B de$ 10 VB m g oar 3@

gfET g Fiaw)

The length of work shop is twice its width, if the length of the diagonal is

10 ¥5 m, find the perimeter
(@ 60 m (b) 50 m

(© 5 m @ 10 m

Iie W god qUT T FI7 FHr ok Ee §, ar

A circle and a square have the same perimeter then

(a) 3 &P AT 8idT /

their areas are equal

(b) T =T BT TR g/

the area of the circle is the greater
(c) 91 T &YFheT 3118 BT/
the area of the square is the greater

(d) ool T QTG 997 & BTG J 71 IAT G/

the area of the circle is 7 times the area of the square
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4.

5.

T T AT TUT Elel & IATAT F MUR 9T fihe &7 YR 9gare

Identify the type of fit from the given dimensions of a shaft and hole :

giet/ Hole: 4010033 MFS/ Shaﬁ:4018;82§

(a) Teraig fe / Clearance fit

(b) SeTHiT fihe / Interference fit

(c) giferer fife / Transition fit

(d) T e e / Slack running fit

feT av REr 7 O ured wiadiesT g/

Identify the side view from the given views

—— Front view

<

Top view

(a) (b)

© @
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6. 3T Afed &F R & folt ———— =1 &1 93T & Srar &
thread is used for transmitting high power.
(a) wEH/ACME (b) HI/ Metric
(c) @/ Square (d) eXd/Buttress
7. UF NeUA FUTAT ar el &Y SiEar § 5l § —————— BT &
An Oldham coupling connects two shafts when they have misalignment
(@) THEEIH &Hed/ [ntersecting
(b) HAWIR/ Parallel
(c) THART / Coaxial
(d) =ad/ Perpendicular
8. gifeler T ®ia T@T UT Icdesd HLAT &
Honing produces the tolerance grade of
(@) 10 by 12
(c) 5 (dy 7
9. 3Ifg vended AFRIcHF g, al fhe aar gem

If the allowance is negative, the fit is

(a) <afdeIor/ Interference
(b) NI / Clearance

(c) FWROT/ Transition

(d) FelsTI=aT/ Close running

Post Code No. 20
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10. = Gu 7w s & v ngwgs Rae &1 a0ET . Rae &1 3AA AR Fidee
50 N/mm? (Fled & gel)
Calculate the diameter of rivet required for the joint as shown below. Assume

allowable shear stress of rivet as 50 N/mm?

LT

&: N 15EN

L/

15 kN ———/

(@) Va/N1200 m
(b) V4/NTt mm
(c) V120/mmm

(d) V1200/vm mm

1. s axg o 3fafad #ir @ @i § d sew sgdEfes @ dies 5 oo
FiT O ugfa gier Fr sl §
For drawing isometric views of objects having irregular angles and lines which

method is used

(a) 3ipaE ugfa/ Offset method
(b) arFH 9gid/Box method

(c) T ggfa/Normal method

L’ d) 39dFa A YL/ None of the above
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12.

13.

14.

15.

70 T.A. vd 140 WA, T N JEATFR SABA Thdelr §
Find the annular area of the ring whose diameters are 70 cm and 140 cm

(a) 54000 .72/ 54000 cm? (b) 14790 F. = / 14790 cm?
(c) 46200432/ 46200 cm? (d) 11550 &.#? / 11550 cm?

TF &F ForEdT aTHAT 40 FgE A § 98 1 9¢ 20 e A g RE 9 9E ¥ W
ST & df &6 & ueilr #Re @ &Y forex wia fAee & & gl |

A tank of 40 cu.m capacity is filled with water fully in 1 hour and 20 minutes.

The filling rate in litres per minute is

(@) 500 (b) 800
(c) 200 (d 80

wmaﬁr%mﬁPCmmmaﬁﬁmﬁm?ﬁmﬁmm
g2

The quantity of heat required to increase/decrease the temperature of 1 gram of

substance by 1°C is

(a) 7o 3SAT/Latent heat

(b) TafRrse Z=AT/ Specific heat
(c) WIET 35AT/ Sensible heat
(d) 3 AR FsAT/Thermal heat

&l FEHI3T F AT 9 § AUT IUAB 18 Bl Ieieh Ikl hl AT TRt glamr?
The sum of two numbers is 9; their product is 18. The sum of their reciprocals is

1 - 1
@ - ®)

2
(© 2 (d 4
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16. ACME 93 wgdri«v
Identify the ACME thread?

17.

(a)

(c)

AR BT v A & WgY ard gdaee gel

(@)

(€)

-

=2 (d)
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18. Ul aedfas Bsar 7 T o 1 NsaAReE 989 ——— Biar §
The isometric projection of a sphere is a ———— of its true radius.
(a) SRR/ Elliptical (b) dcd/ Circle
(c) FaFR/ Conical (d) a3/ Square
19. & FHIAT F FFRARA ——— §

The intersection of two planes is a

(a) ¥rely 3T/ Straight line

(b) dfshcT I@T/ Curved line

(c) FTATTATA/ New plane

(d) 39ded § A FIS AL/ None of the above

20. GYUH FHIUT Y& & Hohd HI Tided & oT YA g ar ST T ATH Sd10

Name of the solid used to draw the symbol of first angle projection

(a) <A / Conical

(b) < HIBEH/ Frustum of cone
(c) o= / Cylinder

(d) ¥erm / sphere

21, 0T FH ~—————— & YA S WFhd @ A SAfAd A & v Far srar g
The control sequence ————— is used to generate the diameter symbol @.
@ % %C by % %d
) % %R d % % X
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22. & 41 3t gue qAf A v oW Al FAW F T g H gee TMNT FA A
3MARTSHAT 1IN AT 3HF d&

In order to create one solid model from two or more separate solid shapes the

drafter will need to position them and then

(a) 37 S o [T YfergaT s JAPT e/ Use union to join them
(b) SIS w8 FT AT HL/ Use join command

(c) TS UTE 3SR ST yeaT e/ Use the Add parts tool

(d) FIREFTHGFISTE / None of the above

23, Frafaf@a sanfade afsflr awde 7 Hiq @ Biada asfer #T §

In the following geometric modeling techniques which is not three dimensional

modeling?

(a8) IR W/ Wire frame (b) ®GR@T/ Drafting
(c) gsa AT / Surface modeling  (d) 3 AT / Solid modelling

24, fefafaa T & oifRa AT #1 & % AT H
Find the area of shaded portion in the following figure?

Semi circle with 70mm

/ radius

S

(@) 2100 @2/ 2100 mm? (b)) 4200 fEFEZ/4200 mm?
(c) 4900 fA#A?/4900 mm? (d) 9800 fA#F2/9800 mm?

10 Post Code No. 20
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25.

26.

27.

28.

29.

T Thel &I qUET H, 65% 3T # 9w ge, 50% 70T A urE ge aur 10% e
ﬁw‘rﬁrﬁmgmaﬁm féamzﬁaﬁ?ﬁﬁw:frwwa’rqﬁmﬁmﬁﬁmaﬁ
ufeea gu?

In an examination in school, 65% pass in English, 50% pass in- mathematics,
10% fail in both the subjects. If 75 students pass in both the subjects, then the
number of students appearing the examinations is

(@) 300 (b) 375 ©) 750 (d) 500

Teh W@y = 4 - 2x x-378T W Fgh wfaeoe < §72

The line y = 4 - 2x intersects x-axis at

@ 1 b) 0 € 4 (d) 2

T 7 cm A TS 1 1540 FoRam aoied a8 W gidser w1 i)
Calculate the stress in the rod of 7 cm diameter when it is subjected to tensile
load of 1540 kg

(a) 0.4 kg/sq.cm (b} 40 kg/sg.cm

(c) 4 kg/sq.mm (d) 4 kg/sg.cm

ol @ & TR §art =1 S9wer Fr g o w9 ‘e, “b*, TUT 3T ‘¢ &
Area of four walls of a room of length “a” breadth “b” he:ght “c”

(@ 2a (b + ¢ (b) 2c (a + b)

(c) a+b+c (d) abc

ﬁamﬁﬁg@ummﬁmﬁkg%mmmwmwm

The surface areas of two spheres are in the ratio 4 : 9, the ratio of their volumes is

a 4 .27 Yy 8:21
(c) 8:25 (d 8:27
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30.

31.

32.

33.

weh o forae ¥ FoT 20 T, T @A Zan FIE A W 3T W a HIOT Sl §
aar a< 9, af wla=de T AT geil?
When a cone of apex angle 29, is cut by a cutting plane at an angle a to the

axis of the cone and a<9, the intersection curve is a

(2) &rga / Ellipse (b) e / Parabola
(¢) 31T WRaed / Hyperbola () wehat / Circle

TF FHAdeet ABCD # faEot AC &1 oaTS 80 JeW ¥ Fur 3w fawot BD # e
60 JA &1 A SEET AT HY g Recelr gl
In a rhombus ABCD, one diagonal AC is 80 cm and the other diagonal BD is

60 cm, what is the length of its sides?

(@) 80@HT / 80 cm (by 60 ¥H / 60 cm
(c) 50 @¥HT / 50 cm (d) 140 /=Y / 140 cm
U FueHiie A FRael ST B §7

The number of sides in a heptagon is

(a) G / Five (b) & / Six

(c) T1d / Seven (d)y 3MS / Eight

o dega # N F= gem?

In an ellipse, vertex is

(a) T el 3@ HEY 38T ¥ wigad / A straight line perpendicular to major axis
(b) e waige / Focal point '

(c) & 3aT % 3ic feig / The end points of the major axis

(d) 3chear / Eccentricity

12 Post Code No. 20
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1=ra

34. 0.4 ¥ 0.8 pm FI TIg &I 7T YR g2 Sl §72
Surface roughness of 0.4 to 0.8 um is denoted by

(&) VVVWWV by VVV
© W @ Vv

35. & f 1% aeq & T vd oMY wdadlee # wE g g
Pick the matching front and top view of the object given below

Top view

Front view

(a) Q (b)
_\

() ()

13 Post Code No. 20
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36.

37.

38.

STHITE FiEd F 3Heihs RAT B GRT T F AR AT
The reason for saving an AUTOCAD drawing in DXF file is

(a) BTFHUF BIEA ﬁﬁ@mmy@g%msﬁ(m)aﬁuﬁwﬁmmmw
The DXF file can be opened in any other computer Aided Design (CAD)
application

(b) 3iieihs DeccTs TFel Pl Jelel H STTFHTE Bige , TISel 3 H 1978 B & / DXF
files takes up less space on a file than the AUTOCAD DWG file

(c) STFUH FEeT T AGHAFE a5 STFgHC H Wil Sff Fhell &/ DXF  files can be
opened in a Microsoft word document

(d) SYTFEUF FIS FI 3CIHS %ﬁqﬁﬁwﬁaﬂmmW%/DXF files can be
opened in earlier releases of AUTOCAD

Fers oR 3 3 34 Afze 7 Brder 91T o ey & forw AT g ar §

The slice too! is used for slicing 3D solid model into

(a) arHENH / Two parts

(b) TSI IR T ifeiar & fow &t s FAR/ Two parts ready for the calling of the
section tool

(c) & A& foraei aMaeashar gl / Into as many parts as are required

(d) 33 Srg Alse 3igar 31 3EiTd HET FI gl % fov / To remove a part not wanted in

a 3D solid model drawing

TF FGAHR EHER F7 T TF o9 o137 ST Fevall § a9 Ao ———— g

A cylinder can be created by drawing a rectangular shape then the ———— tool.

(a) <R/ Revolve
(b) W@ / Sweep

(c) sfgdersr / Extrude
(d) eI H A HS A/ None of the above

14 Post Code No. 20
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39.

40.

41.

42,

‘R” Bsam U9 “H" Su1$ arel &% &1 31ae F41 gen
Volume of a cone of radius “R” and height “H” is

= R?H b = R?H
(a) g (b) 3 ¥

1 1
(c) ERRZH (d) ETERZH

T G forueht 3Rfen dor 6 /A, § 3R 3id 9o 10 /A, § a9 e’or 1 @/ 9.2
¢ dl 3 9% @RI ag & = gl e fFfe
Calculate the distance travelled by a body whose initial velocity is 6 m/s, final
velocity is 10 m/s and acceleration is 1 m/s?

(@) 60 #eT/60 m () 32#FeT /32 m
(c) 64%T /64 m d 16 HeT/16 m

10 7T of@1g, 6 7 dise aw 4 A FUE g FA T Bart g BT o T H
S € TS AT ST ATl U a1 wer Fhde gl

A room of size length 10 m, width 6 m and height 4 m is to be white washed
for its walls & ceiling. The total area to be white washed is

(@) 128 sq.m (b) 188 sgq.m
(c) 240 sg.m (d) 288 sq.m

T Fa & A qa H e G TRl o W Fid F fFE 0T F FROT 9% g
ST §?

A thick glass container breaks, when boiling water is poured into it, due to this
property of the glass

(a) FSHIT faTaror @1 fae=1 a[unes / Low coefficient of thermal expansion
(b) F®AT ¥ FaTerhal / Poor conductiyity of heat

(c) a1 @R 37T / Low specific heat

(d) 39d%a # ¥ FI$ 7 / None of the above
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43, A9 3cROT & T8 dig Areaq § ?
The fastest mode of heat transfer is

(a) HTel=T / conduction
(b) Hag=T/ convection
(c) Tafeor/radiation
(d) Zg«/combustion

44, eafa &1 AT THAH gl §7?

The velocity of sound is greatest in

(a) A H/water (b) aFH/air
(c) Toraa #/vacuum (d) eI H/ metal

45. 2HEd & aead §?

Decibel is

(a) TS GIfid 39I0T/ A musical instrument

(b) et s / Musical note

(c) eafa TR Hrama/a measure of sound level
(d) eafxHra@ded/ the wavelength of noise

46. darger $r g5 dgel A gquT 9T fRT o §

mirrors are used in head lights of vehicles.

(a) 3cdel/ Convex

(b) 3ader/ Concave

(c) & guuT/ Plane mirror
(d) sS=E/ None
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47. feTw aw RSt # O g 9ggdlies ggdler

Identify the side view from the given views

Front View -___,_,_J

=g -

;
S

Top view

G —— (b)

()

(d)

48. T&U 1T 37T UE UIed Gdcliened A TEr Y WRiadichd Ugdlet

From the given front and side view, identify the correct top view

Front view Side view

(a) T] (b) I
‘ » T
© N @ L1
-
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49

50.

. e INSH FAS B 3T §IT &
The purpose of the UCS (User Coordinate System) ICON command is to

(@) XYZ ﬁaﬁtmﬁmmﬁmmﬁﬁmma:mm‘#rﬁ
AT 9T Yhed Hi AR F3 & AT qaieT @l 3gAfa &A1 / Permit a user to
control the placement and appearance of the icon to help you understand
your orientation in the XYZ coordinate system

(b) Y@ Eigsl & fAT SRR ToleT 3UelsY w11/ Provide a working plane to draw
on

(c) IETH T Y FEEHER & AT yArehal 1 AT &7 F Tl / Permit a user to
move the UCS system

(d) 0,0ﬁﬁﬁﬁ?mﬁﬁmﬁﬁaﬂﬂﬁmﬁaﬁﬁm / Permit a user

to redefine the location of 0,0

TRfET RT T AT AT TS

What is the value of A in the following figure?

* |

50|

(a) 80A®HH / Less than 80
(b) 80 % &=/ More than 80
(¢) 80% =X/ Equal to 80
(d) IS s AT / Any value

i8 Post Code No. 20
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w= wTd & fo s/ Space for rough work

19 Post Code No. 20
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3.

10.

11.

ﬂmﬁwqﬁﬂwmawmma?wﬁmm a1 e seaw REeT @), (), (©)

TUT (d) AL BIET| 3H I TR §T Il @& & / Bach objective question is provided with a text

and/or ﬁgures wherever applicable with multiple answer choices (a), (b), () and (d). Only
one of them is correct.

mwtq?%@mmﬁaﬁmﬁﬁqtlmmﬁﬁmﬁamm
m%ﬁzwﬁmﬁgﬁmmmmmmmﬂamﬁlmwme

instructions on the OMR sheet carefuily. Use only Blue or Black Ball Point Pen for
writing on OMR sheet and marking your answers.

mﬁaﬁlﬁwsm%qaméﬁaﬁrméﬁwmﬂmm FE Ik o & W AT a2
TAT A UT UF 3 Fer omwaw [ All objective type questions carry equal marks of
THREE for a correct answer, ZERQ for no answer and minus ONE for a wrong answer.

T 93 & e Scakl & ITed Jeal AT ST
Multiple answers for a question will be regarded as a wrong answer.

qeaﬁw%mﬁT%mma#AmsmcmnmEﬁ%ﬁmmm% ST
WMQmﬁ%@mmmam(mﬂ)#%ﬁmaﬁaﬁ%lﬂmﬂmm
FeeR iecehr Sifer #E 1 Jmesh| / Question booklets have been marked with A or B or €

or D or E on the right hand top corner, which is mandatory to be written on the OMR sheet
in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

HE9TE P W TE F & Gear i R 7T R T ST HFR 1 T F Pl
ofic =T & STeelr / Space available in the booklet could be used for rough work, if required.
No separate sheet will be provided.

ﬁqeam%f@vaﬁﬁé‘rmwﬁg’r 3T G 9T GET F 991g F HY| IV 3T T

g Y T 916 H %f%?r WesT g ¥ TFa &l / Do not waste time on questions, which are

too difficult for you. You can go on to other questions and come back to the difficult ones
later.

Qﬂmtmaﬁwmmmg@ﬁﬁaqﬁmmﬁaaw@)mm
mmﬁ#awmmm#MWwaﬁmlAttheendof

the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances.

oTeT Faawor & S fRET e o @eE @ 4, 3ideh faaver € wene g/ In case of any doubt
in any question between the language versions, English version will prevail.

o e s e ok
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